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Kids’ ‘X’ Word Solution 
 

 

 
Kids Challenge! 
Did you find the word? 
It is “FREIGHT”. 
 

Smart kids : 
1. Tarun, New Jercy. 
2. D. Aditya, Lucknow. 
 

Kids’ ‘X’word Winners: 
1. D. Aditya, Lucknow. 
2. A. Lakshmi Puja, Visakhapatnam. 
3. A. Swathi Keertana, Visakhapatnam. 

 

Salutation to your solution! - Answers 
����

������������According to the problem, if daughter gets $x, mother gets $2x and son 
gets $4x. So all together $7x, which is equal to $28000. So daughter’s 
share is $4000, mother’s share is $8000 and son’s share is $16000. 

�

������������The distance between Ram and Shyam is 36 miles. In one hour they cover 
12 miles (6 miles each), thus the distance between them reduces to 24. 
This way they take 3 hours to meet each other. The parrot was flying all 
the time at a speed of 18miles/hr. So in 3 hours, it covers 54 miles. 

 

���������According to Thug leader, the saint supposed to tell a sentence. He says “You 
are going to Hang me”. In case if they hang him, the statement is true – which 
means he should be shot. In case if they shoot him, the statement is false – 
which means he should be hanged. So they can not kill him. 

 

Salutation to your solution!������������Winners : 1. Sarada Shonti, Kakinada. 
2. Sai Dasari, California. 

 

Question Gallery! - We ourselves disclosing answers!! 
 

1. Sri Krishna Deve Raya is known as “Andhra Bhoja”. 
 

2. “The feet of the master” was written by Sri. Jiddu Krishna Murthy. 
 

3. Panch Mahal is located in Fatepur Sikri, Uttar Pradesh. 
 

4. Simla is located in Himachal Pradesh, India. 
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5. The capital of the state Uttaranchal is Dehradun. 
 

������������Odometer is useful to know the distance a vehicle travelled. 
 

7. One hectare is equal to 10000 square meters. 
�

8. Symbol of Mercury is Hg. 
 

9. Sri. Vempati China Satyam is known for his Kuchipudi dance teachings. 
   

10. The word ‘Free throw’ is used in Basket ball game. 
 

Question Gallery! – Winners : 
1. Rajeswara Rao Ainapurapu, Visakhapatnam. 
2. T. Anoop, East Godavari Dt. 
3. Vaasanti Maghapu, California. 
4. Ravi Bhagavatula, Chicago. 
 

A need  and a desire 
Most of the time we use a need and desire as synonyms. But 
in reality there is a huge difference. Lets see the difference in 
the vicinity we live in 
 

� We need a house to live in. It is a need. 
� We need food for our survival. This is also a need. 
� We need clothing to cover our body. This is another need. 
�

� We posses a 2 story building. If we have another room, we 
can have comfort. Anyway we are planning to construct, 
so we construct a portion. This is a desire. 

� I have Rs. 88000 in my bank account. If I put Rs.12000, 
then the balance becomes one lakh. This is desire. 

� I have 8 pairs of dresses and 5 pairs of suits. But my friend 
Rajarao is having a nice suit, I need to buy one like that. 
This is a desire. 

 

If we reduce our desires and extend our hand in providing 
minimum needs of others, we are blessed! Think about it. 
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A need and a desire
Most of the time we use a need and desire as synonyms. But
in reality there is a huge difference. Lets see the difference in
the vicinity we live in
� We need a house to live in. It is a need.
� We need food for our survival. This is also a need.
� We need clothing to cover our body. This is another need.
�
� We posses a 2 story building. If we have another room, we
can have comfort. Anyway we are planning to construct,
so we construct a portion. This is a desire.
� I have Rs. 88000 in my bank account. If I put Rs.12000,
then the balance becomes one lakh. This is desire.
� I have 8 pairs of dresses and 5 pairs of suits. But my friend
Rajarao is having a nice suit, I need to buy one like that.
This is a desire.
If we reduce our desires and extend our hand in providing
minimum needs of others, we are blessed! Think about it.


